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1 =88
(1) BEhHEE
[(2{K] [35m K] [35~59%] [60mELLL]
A% (M) | HEhB% | A%E (F) A% (M) | HEB% | A% (F) A% (M) | L&hB%* | A% (F) A% (H) | LEhBe%* | A% (H)
A B (A%XB) A B (AXB) A B (AX%XB) A B (A%XB)
=/IMiE 10, 268 21.1 216, 655 =/ME 13, 889 21.1 293, 058 =/IME 13, 000 21.1 274, 300 =/IME 10, 268 21.1 216, 655
=KXIE 28, 000 21.1 590, 800 =AE 24,000 21.1 506, 400 =AIE 28,000 21.1 590, 800 =AE 25, 000 21.1 527, 500
F{E 18, 895 21.1 398, 677 EHIE 18, 945 21.1 399, 729 EHIE 23,000 21.1 485, 300 TiE 17,878 21.1 3717, 226
R B 18, 945 21.1 399, 729 R {E 18, 945 21.1 399, 729 o fE 25,000 21.1 527,500 h & 18, 000 21.1 379, 800
=HEfE 25, 000 21.1 527,500 =AEE - 21.1 - =AEfE 25,000 21.1 527,500 =AAE 25, 000 21.1 527, 500
AR 8 A 2 AR 5 B 6
(2 BEZ®E
[(21K]) (35 K] [35~59%]) [60mLLLE]
A% (M) | HEhB%* | A% (F) A% (M) | HEB%* | A%E (F) A% (M) | LEBE% | A% (H) A% (M) | HEhB%* | A% (F)
A B (AxXB) A B (A xB) A B (AXxB) A B (AXB)
=/IME 12,000 21.1 253, 200 =/|IME - - - =/IME 12,000 21.1 253, 200 =/IME - - -
=AE 12,000 21.1 253, 200 =XAIE - - - =mAE 12,000 21.1 253, 200 =AE - - -
F{E 12,000 21.1 253, 200 S8 SE] - - - EHE 12,000 21.1 253, 200 TE - - -
R R fE 12,000 21.1 253, 200 i - - - th i 12,000 21.1 253, 200 h i - - -
RAAE — 21.1 - 4B - - - RIE(E — 21.1 — RHIE(E — - -
AR 1 SR 0 SR 1 BARE 0
2 xIEE
(1) BE8xEE
[(21K] (35 ki) [35~597%]) [60mLLLE]
H%E (M) | HE#BA%x | A% (A) A% (M) | HEB% A% (M) A% (M) | LEBE% | A% (H) A% (M) | HEhB%* | A% (F)
A B (A%XB) A B (AXB) A B (A%XB) A B (A%XB)
=/IMiE 9, 356 21.1 197, 412 =/ME 11,574 21.1 244, 211 =/IME 13, 000 21.1 274, 300 w=/IME 9, 356 21.1 197,412
=KXIE 24,000 21.1 506, 400 =mANE 24,000 21.1 506, 400 mAE 24,000 21.1 506, 400 =AE 25, 000 21.1 527, 500
F{E 15, 991 21.1 337,415 EHE 17,7181 21.1 375, 306 EHIE 19, 400 21.1 409, 340 TiE 16, 893 21.1 356, 435
th B 15, 000 21.1 316, 500 R {E 17,7181 21.1 375, 306 R {E 20, 000 21.1 422,000 h i 16, 000 21.1 337, 600
=AE{E — 21.1 — RIR(E — 21.1 — RIR(E — 21.1 - RIA(E — 21.1 —
¥ 8 AR 2 ¥ 5 B 6




2) BHEFEE

[21K] [35m ki) [35~597%]) [60mLLE]
A% (M) | HEhB%* | A% (F) A% (M) | HEB% | A% (F) A% (M) | L&hB%* | A% (F) A% (H) | LEhBe%* | A% (H)
A B (AXB) A B (AXB) A B (AX%XB) A B (A%XB)
=/IMiE 12,000 21.1 253, 200 =/ME - - - =/IME 12,000 21.1 253, 200 &/ME - - -
&KI{E 12,000 21.1 253, 200 RKI{E - - - =ANIE 12,000 21.1 253, 200 KB - - -
F{E 12,000 21.1 253, 200 F{E - - - TiE 12,000 21.1 253, 200 TiE - - -
R fE 12,000 21. 1 253, 200 =P 3 [ - - - R {E 12,000 21. 1 253, 200 R fE - - -
=HEE — 21.1 - =HE(E - - - =4EIE — 21.1 - R=IEIE - - -
AR 1 AR 0 AR 1 B 0
3 FEEa
(1) BE8xEE
[(21K]) [35mKiE] [35~59%]) [60mLLLE]
A% (M) | H&B%x | A% (M) A% (M) | H&B%x | A% (M) A% (M) | LEBE% | A%z (H) A% (M) | HEhB%* | A% (F)
A B (AxXB) A B (A xB) A B (AXxB) A B (AXB)
=/IME 9,812 21.1 207,033 =/|IME 12, 731 21.1 268, 624 &/ME 13,000 21.1 274, 300 &/ME 9,812 21.1 207,033
RKIE 25, 000 21.1 527, 500 RA{E 24, 000 21.1 506, 400 KB 25, 000 21.1 527,500 =KI{E 25, 000 21.1 527, 500
F5fE 17,106 21.1 360, 931 FH{E 18, 366 21.1 387,512 FH{E 20, 640 21.1 435, 504 EHE 17,135 21.1 361, 556
HFR{E 16, 684 21.1 352,026 FR{E 18, 366 21.1 387,512 hR{E 21, 000 21.1 443,100 R R{E 16, 500 21.1 348, 150
RAAE — 21.1 — IE(E — 21.1 — 48 — 21.1 — RHIEIE — 21.1 —
AR 8 SR 2 BARE 5 BARE 6
(2 BEFx®E
[(21K] (35mKiE] [35~597%]) [60mLLLE]
A% (M) | H&B%x | A% (M) A% (M) | H&B%x | A% (M) A% (M) | LEBE% | A% (H) A% (M) | HEhB%* | A% (F)
A B (A%XB) A B (AXB) A B (A%XB) A B (A%XB)
&/IME 12,000 21.1 253, 200 &/ME - - - &/ME 12,000 21.1 253, 200 &=/ME - - -
&KXE 12,000 21.1 253, 200 =A{E - - - =AE 12,000 21.1 253, 200 =AE - - -
FHE 12,000 21.1 253, 200 FEHE - - - {8 12,000 21.1 253, 200 FEHE - - -
R R fE 12,000 21.1 253, 200 =P 3 [l - - - h i 12,000 21.1 253, 200 R fiE - - -
Sl - 21.1 - BHAlE - - - B4AfE - 21.1 - 418 - - -
PN 1 AR 0 ¥ 1 B 0




